Crosley CDG6000A 02 - CONTROL PANEL

Crosley Residential Crosley CDG6000A Dryer Parts Parts Diagram 02 - CONTROL PANEL
Click on the part number to view part

1 31001392 Panel, Control
2 21001557 21001769 Endcap, Panel
" 25.3092 90767 Screw, 8A X 3/8 HeX Washer

Head Tapping
& 21001564 21001768 Endcap, Panel
Screw, 8A X 3/8 HeX Washer

" 25-3092 078z Head Tapping

4 53-1639 Buzzer Assembly

5 31001393 Knob And Skirt Assembly

6 25-7851 Speedclip, End Cap To Top

7 21001560 21001767 Frame

8 25-3457 Screw, Sems

" 21001527 Shield, Rear

" 25.3092 90767 azgzw_i_ ;i:;) i);93/8 HeX Washer
9 25.3092 90767 Screw, 8A X 3/8 HeX Washer

— Head Tapping
" 53-1810 Timer



http://www.pwslaundry.com/c-511465-residential-crosley-cdg6000a-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-10427918-crosley-31001392-dryer-panel-control.html
http://www.pwslaundry.com/i-10431016-crosley-21001769-washer-dryer-endcap-panel.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10431019-crosley-21001768-washer-dryer-endcap-panel.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10430201-crosley-53-1639-dryer-buzzer-assembly.html
http://www.pwslaundry.com/i-10427919-crosley-31001393-dryer-knob-and-skirt-assembly.html
http://www.pwslaundry.com/i-10429455-crosley-25-7851-washer-dryer-speedclip-end-cap-to-top.html
http://www.pwslaundry.com/i-10431028-crosley-21001767-washer-dryer-frame.html
http://www.pwslaundry.com/i-10429472-crosley-25-3457-washer-dryer-screw-sems.html
http://www.pwslaundry.com/i-10429883-crosley-21001527-washer-dryer-shield-rear.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10430534-crosley-53-1810-dryer-timer.html

53-2504

31001193
21001517

21001556
31001348

25-3092

21001419
31001418

31001460

31001193

21001772

31001449

90767
Not Available
Not Available
Not Available

Pad, Shield
Pad, Shield
Shield, Control
Knob, Selector
Switch, Selector

Screw, 8A X 3/8 HeX Washer
Head Tapping

MANUAL, LAUNDERING TIPS
MANUAL, USE & CARE

MANUAL, USE & CARE
(SPAN)


http://www.pwslaundry.com/i-10429893-crosley-31001193-washer-dryer-pad-shield.html
http://www.pwslaundry.com/i-10429893-crosley-31001193-washer-dryer-pad-shield.html
http://www.pwslaundry.com/i-10429897-crosley-21001517-washer-dryer-shield-control.html
http://www.pwslaundry.com/i-10431031-crosley-21001772-washer-dryer-knob-selector.html
http://www.pwslaundry.com/i-10430530-crosley-31001449-dryer-switch-selector.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html

	Crosley CDG6000A 02 - CONTROL PANEL

